
K
apitel9:Integration

9.3
D

erH
auptsatz

und
A

nw
endungen

D
efinition:S

eien
Funktionen

F,f
:
[a
,b

]→
R

Funktionen
m

itF ′(x
)
=

f(x
),a

≤
x≤

b
.

D
ann

heißt F
(x
)
S
t
a
m
m
f
u
n
k
t
i
o
n

von
f(x

).

B
em

erkung:

•
IstF

(x
)

eine
S

tam
m

funktion
von

f(x
),so

sind
alle

Funktionen
derForm

F̃
(x
)
=

F
(x
)
+
c

m
iteinerKonstanten

c∈
R

S
tam

m
funktionen

von
f(x

).

•
S

ind
F
1
(x
)

und
F
2
(x
)

S
tam

m
funktionen

von
f(x

),so
istdie

Funktion

F
1
(x
)
−
F
2
(x
)

konstant.

�
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H
auptsatz

derD
ifferential-und

Integralrechnung.

Satz:S
eif

:
[a
,b

]→
R

eine
stetige

Funktion.D
ann

gilt:

(a)
D

ie
Funktion

F
(x
)
:= ∫

xa

f(t)
d
t

isteine
S

tam
m

funktion
von

f(x
).

(b)
IstF

(x
)

eine
S

tam
m

funktion
von

f(x
),so

gilt

∫
ba

f(t)
d
t
=

F
(b
)
−
F
(a
).
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B
ew

eis
von

(a):W
irzeigen,dass

F ′(x
)
=

f(x
)

gilt.

S
eih

�=
0

so,dass
x
,x

+
h
∈
[a
,b

].D
ann

gilt
∣∣∣∣
1h
(F
(x

+
h
)
−
F
(x
))
−
f(x

) ∣∣∣∣
=

∣∣∣∣∣
1h (∫

x
+
h

a

f(t)
d
t
− ∫

xa

f(t)
d
t )

−
1h ∫

x
+
h

x

f(x
)
d
t ∣∣∣∣∣

=

∣∣∣∣∣
1h ∫

x
+
h

x

(f(t)
−
f(x

))
d
t ∣∣∣∣∣

≤
sup{

|f(t)
−
f(x

)|
:
|t
−
x
|≤

h
und

t∈
[a
,b

]}

→
0

für
h→

0
,

m
itder(gleichm

äßigen)S
tetigkeitvon

f
auf[a

,b
].
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B
ew

eis
von

(b):M
itTeil(a)gilt

F
(x
)
= ∫

xa

f(t)
d
t
+
C

füreine
Konstante

C
.D

araus
folgt

F
(b
)

=

∫
ba

f(t)
d
t
+
C

F
(a
)

=

∫
aa

f(t)
d
t
+
C
=

0
+
C
=

C

und
som

it

F
(b
)
−
F
(a
)
= ∫

ba

f(t)
d
t.
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B
em

erkungen.
•

Teil(a)des
H

auptsatzes
giltauch

fürstückw
eise

stetige
Funktionen

f(x
).A

n
den

U
nstetigkeitsstellen

istdie
S

tam
m

funktion
allerdings

nureinseitig
differenzierbarm

it

F ′(x
−
)
=

lim
x
→

x
−

f(x
)

und
F ′(x

+
)
=

lim
x
→

x
+

f(x
).

•
E

ine
S

tam
m

funktion
einerFunktion

f(x
)

nenntm
an
d
a
s
u
n
b
e
s
t
i
m
m
t
e

I
n
t
e
g
r
a
l

von
f(x

)
und

m
an

schreibt

F
= ∫

f(x
)
d
x

D
ie

Funktion
F

istbis
aufeine

Konstante
eindeutig

bestim
m

t.

�
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B
eispiele.

W
irbezeichnen

m
itC

stets
die

I
n
t
e
g
r
a
t
i
o
n
s
k
o
n
s
t
a
n
t
e

.

∫
x
n
d
x

=
1

n
+
1
x
n
+
1
+
C

für
n
�=

−
1

∫
1x
d
x

=
log

|x
|+

C
für

x�=
0

∫
sin(x

)
d
x

=
−

cos(x
)
+
C

∫
cos(x

)
d
x

=
sin(x

)
+
C

∫
tan(x

)
d
x

=
−

log
|cos(x

)|+
C

für
cos(x

)�=
0

∫
cot(x

)
d
x

=
log

|sin(x
)|+

C
für

sin(x
)�=

0

∫
1

cos
2
(x
)
d
x

=
tan(x

)
+
C

für
x�=

(2
k
+
1
)π

2
m

itk∈
Z
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W
eitere

B
eispiele.

∫
1

sin
2
(x
)
d
x

=
−

cot(x
)
+
C

für
x�=

k
π

m
itk∈

Z

∫
1

√
1
−
x
2
d
x

=
arcsin(x

)
+
C

für
|x
|
<

1

∫
1

√
1
+
x
2
d
x

=
log (

x
+ √

1
+
x
2 )

+
C

∫
1

√
x
2
−
1
d
x

=
log ∣∣∣ x

+ √
x
2
−
1 ∣∣∣

+
C

für
|x
|
>

1

∫
1

1
+
x
2
d
x

=
arctan

x
+
C

∫
1

1
−
x
2
d
x

=
12

log ∣∣∣∣ 1
+
x

1
−
x ∣∣∣∣

+
C

für
|x
|�=

1
.

∫
e
a
x
d
x

=
1a
e
a
x
+
C

für
a
�=

0
.
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N
och

m
ehrB

eispiele.

∫
b
x
d
x

=
1

log(b
)
b
x
+
C

für
b
>

0
,b

�=
1
.

∫
log(x

)
d
x

=
x
(log(x

)
−
1
)
+
C

für
x
>

0
.

∫
log

b
(x
)
d
x

=
x

log(b
)
(log(x

)
−
1
)
+
C

für
b
>

0
,x

>
0
.

∫
sinh(x

)
d
x

=
cosh(x

)
+
C

∫
cosh(x

)
d
x

=
sinh(x

)
+
C

∫
tanh(x

)
d
x

=
log(cosh(x

))
+
C

∫
coth(x

)
d
x

=
log(|sinh(x

)|)
+
C

für
x�=

0
.
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W
ichtige

Integrationsregeln.

Satz
(L
i
n
e
a
r
i
t
ä
t

):S
ind

f,g
:
[a
,b

]→
R

stückw
eise

stetig,so
gilt

∫
(α

f(x
)
+
β
g
(x
))
d
x
=

α ∫
f(x

)
d
x
+
β ∫

g
(x
)
d
x

füralle
α
,β

∈
R

.

Satz
(P
a
r
t
i
e
l
l
e
I
n
t
e
g
r
a
t
i
o
n

):S
ind

u
,v

:
[a
,b

]→
R

stetig
differenzierbar,so

gilt
∫
u
(x
)v ′(x

)
d
x
=

u
(x
)v
(x
)
− ∫

u
′(x

)v
(x
)
d
x

fürunbestim
m

te
Integrale,w

om
itfürbestim

m
te

Integrale
folgt

∫
ba

u
(x
)v ′(x

)
d
x
=

u
(b
)v
(b
)
−
u
(a
)v
(a
)
− ∫

ba

u
′(x

)v
(x
)
d
x
.

B
ew

eis:folgtdirektaus
P

roduktregelderD
ifferentiation:(u

·
v
) ′
=

u
′v
+
u
v ′.
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D
ie

Substitutionsregel.

Satz:Isth
:
[a
,b

]→
[c
,d

]stetig
differenzierbarund

f
:
[c
,d

]→
R

stetig
m

it

S
tam

m
funktion

F
(x
),so

gilt∫
f(h

(t))h
′(t)

d
t
=

F
(h

(t)).

Fürbestim
m

te
Integrale

erhältm
an

som
it

∫
ba

f(h
(t))h

′(t)
d
t
=

F
(h

(b
))
−
F
(h

(a
))

= ∫
h
(
b
)

h
(
a
)

f(x
)
d
x
.

B
ew

eis:folgtdirektaus
KettenregelderD

ifferentiation:

dd
t
(F
(h

(t)))
=

f(h
(t))·

h
′(t).
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B
eispiele.

•
Linearität:∫

(2
8
x
3
+
1
2
x
2
−
2
x
+
3
)
d
x
=

7
x
4
+
4
x
3
−
x
2
+
3
x
+
C

•
Partielle

Integration:∫
x
e
x
d
x
=

x
e
x
− ∫

e
x
d
x
=

(x
−
1
)e

x
+
C

•
Partielle

Integration:∫
log(x

)
d
x

=

∫
1·log(x

)
d
x

=
x· log(x

)
− ∫

x·
1x
d
x

=
x
(log(x

)
−
1
)
+
C

�
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Ein
w

eiteres
B

eispielzurpartiellen
Integration.

∫
sin

2
(x
)
d
x

=

∫
sin(x

)·sin(x
)
d
x

=
sin(x

)(−
cos(x

))
+ ∫

cos
2
(x
)
d
x

=
−

sin(x
)

cos(x
)
+ ∫

(1
−

sin
2
(x
))
d
x

=⇒
2 ∫

sin
2
(x
)
d
x

=
−

sin(x
)

cos(x
)
+
x
+
C

=⇒
∫

sin
2
(x
)
d
x

=
12
(x

−
sin(x

)
cos(x

))
+
C

�
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Ein
B

eispielzurSubstitutionsregel.

S
ubstituiere

x
=

h
(t)

=
a

cos(t)
in

∫
a−
a √

1
−
(x
/a

)
2
d
x
= ∫

0π √
1
−

cos
2
(t)(−

a
sin(t))

d
t,

denn

d
x
=

−
a

sin(t)
d
t

h
(0
)
=

a
und

h
(π
)
=

−
a
.

Som
itgilt

∫
a−
a √

1
−
(x
/a

)
2
d
x

=

∫
0π √

1
−

cos
2
(t)

(−
a

sin(t))
d
t

=
a ∫

π0

sin
2
(t)

d
t

=
a2
(t

−
sin(t)

cos(t)) ∣∣∣∣
π0

=
a
π2
.

�
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Ein
w

eiteres
B

eispielzurSubstitutionsregel.

S
ubstituiere

x
=

h
(t)

=
t
2,d.h.t

=
√
x

für
x≥

0
in

∫
e √

x
d
x
= ∫

e
t
2
t
d
t

denn
es

gilt

h
′(t)

=
2
t.

D
araus

folgt
∫
e √

x
d
x

=

∫
e
t
2
t
d
t

=
2
(t

−
1
)e

t
+
C

=
2
( √

x
−
1
)e √

x
+
C
.

�
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B
em

erkung.

•
N

ichtjedes
Integrallässtsich

explizit“lösen”,d.h.

•
nichtjede

(integrierbare)Funktion
besitzt“einfache”S

tam
m

funktion
bzw

.

•
m

anche
S

tam
m

funktionen
lassen

sich
nichtdurch

Kom
position

von

elem
entaren

Funktionen
darstellen.

B
eispiele:

S
i(x

)
:=

∫
x0

sin(t)
t

d
t

(I
n
t
e
g
r
a
l
s
i
n
u
s

)

erf(x
)

:=
2√π ∫

x0

e
−
t
2

d
t

( F
e
h
l
e
r
f
u
n
k
t
i
o
n

)

E
(x
,k

)
:=

x∫0

(1
−
k
2

sin
2
t) ±

12
d
t

(E
l
l
i
p
t
i
s
c
h
e
I
n
t
e
g
r
a
l
e

)

�
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